
 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



2-3. [10 marks] 

On a bet from his friends, Thor Odinson places his hammer in an elevator, 

as shown. The motor, M, lifts the elevator and hammer through the pulley 

system shown. The combined weight of the elevator and hammer is 2700 

lbs. At the point P, indicated, the constant acceleration is 8 ft/s2. The 

velocity of point P is 2 ft/s at time t = 0.  

a) Starting at t = 0, what is the distance the elevator traveled in 2s? What 

is the velocity of the elevator at t = 2 s? 

b) Starting at t = 0, what is the work done by the motor over the next 2s 

while the elevator rises?  

Assume that the pulleys are ideal and massless. 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



 

 


